Rk 24 £RJE

Ppse

CE

15 &

T~ E=E £ B &

>
2
i =t

E

K E R E ¥

g T P

& I TERT #t N

T H= 4

THATAS A (FE TEISHRIENI0MR) BAEMR BEXE
HHEKEEICHOBEKEBR THF

By

244F 64

- S
L R A
T HA Rk 254F 3H SHIEY s 2,416.4 m ) HE PR

T ke D AN ) g T B H
[ FAEHiBL] [ FoKaE ]
1 LXK K@ EF ¢150 L= 465.4 m I LX A EF ¢150 L= 49.0 m
K% PP ¢50 L= 175 m W PP $20 L= 30 m
K% PP 20 L= 3.0 m 2-1 T A% PP ¢20 L= 250 m
2 LTIX A% PP ¢50 L= 1165 m % PP $20 L= 235 m
K#% PP ¢40 L= 1.5 m 5 TIX A# PP $20 L= 10.0 m
7% PP 50 L= 84.5 m {i% PP ¢20 L= 10.0 m
2-1 TR A PP ¢20 L= 220 m 6 LIX A% PP ¢30 L= 120 m
i PP ¢$20 L= 220 m 5% PP ¢$20 L= 12.0 m
3 TIX A#% PP ¢50 L= 3.0m 7 TIX # PP ¢$50 L= 0.5 m
A% PP $25 L= 176.0 m B OPP $30 L= 205 m
i% PP ¢25 L= 84.0 m fi% PP ¢$30 L= 21.5 m
4 LXK A PP ¢50 L= 100.0 m -1 TIX #* PP $20 L= 30.0 m
% PP ¢50 L= 94.0 m {ii% PP ¢20 L= 30.0 m
5 TIX A#% PP ¢50 L= 50 m 7-2 TIX W PP $20 L= 165 m
A% PP 20 L= 18.0 m % PP ¢20 L= 175 m
fi% PP ¢20 L= 100 m [kE B ]

6 LIX A PP ¢50 L= 4.0 m 1 LX A EF ¢150 L= 67.5 m
A% PP ¢20 L= 58.0 m A% PP 650 L= 2.0 m
7% PP ¢$20 L= 58.0 m 3 TIX A% PP ¢25 L= 535 m

7TTK  Af% PP ¢30 L= 3285 m
# PP $20 L= 9.0 m FEP N= R

i% PP ¢$30 L= 329.5 m

7% PP 20 L= 3.0 m




